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1. Fraforfea # & F-, we s
(non-procedural) FFeX HINT FET & ?
(a) LISP

(b) Python

(c) Prolog

(d ML

. Frafafae = fmr fifig
1. MPEG

2. P*64

3. Indeo

Jugth # A Torae suann fafear wa
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(b) sae 1 3R 3

(c) Faa 2 3R 3

(d 1,233
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(a) WHE-fRT (X-ray)
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(o) 3@ oo (Visible-ray) ;
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1. Which one among the following is

NOT a non-procedural computer
language ?

(a) LISP
(b) Python
(c) Prolog
(d ML

. Consider the following :
1. MPEG

2. P*64

3. Indeo

Which of the above can be used to
compress video files ?

(a) 1 and 2 only

(b) 1 and 3 only.

(¢) 2 and 3 only

(d 1,2and 3

. Which one among the following has
largest energy per photon ?

(a) X-ray

(b) Ultra-violet ray

(c) Visible-ray

(d) Infra-red ray

. In Sun-Earth system, the distance

between Lagrange points L2 and L3 is
about

(a) 15 lakh kilometre
(b) 30 lakh kilometre
(c) 16 crore kilometre
(d) 32 crore kilometre

5. Which one of the following statements

with regard to greenhouse effect is
correct ? :

(a) It can take place inside a glass
chamber where no radiation can
_ pass into it or pass back through it

(b) It can take place inside a glass
chamber where long wavelength
infrared radiation can pass through
into it and short wavelength
infrared radiation cannot pass
back through it

(c) It can take place inside a glass
chamber where short wavelength
infrared radiation can pass through
into it and long wavelength
infrared radiation cannot pass
back through it

(d) It can take place inside a glass
chamber where all infrared
radiation can pass into it or pass
back through it

. A canon shoots a ball upwards with an

initial speed of 100 m/s. The total time
of flight of the ball is 20 s before it hits
the ground. The ball looses 70% of its
speed after hitting the ground. Which
among the following is the correct
height that the ball will bounce up after
its first bounce ? (g =10 m/s?)

() 100 m
(b) 70 m
© 50m
) 45m
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7. Which one of the following statements

correctly defines PM1 particles in air ?

(a) These are suspended particles of
diameter more than 10 micron

(b) These are the particles that are
filtered by the nose during
respiration

(c) These are extremely fine particles
of diameter less than 1 micron

(d) These are coarse particles that
penetrate directly through the
lungs into the bloodstream

. Which one of the following heat

transfer mechanism does NOT require
a medium ?

(a) Conduction
(b) Convection
(c) Radiation

(d) Collision

. Which one of the following statements
about the solstices, an event that occurs
when the Sun appears to reach most
northerly or southerly, is correct ?

(a) The winter solstice takes place on
June 21 in both the northern and
southern hemispheres

(b) The winter solstice takes place on
December 21 in both the northern
and southern hemispheres

10.

11.

(c) The summer solstice occurs in
northern hemisphere on June 21
and on December 21 in southern
hemisphere

(d) The summer solstice occurs
in northem hemisphere on
December 21 and on June 21 in
southern hemisphere

Which one among the following does
NOT have any linkage with the
phenomenon of electromagnetic

induction ?

(a) Electric transformer
(b) Induction cooker
(c) Galvanometer

(d) Electron microscope

Which one among the
statements about matter
correct ?

following
is NOT

(a) On increasing the temperature of
solids, the kinetic energy of
particles increases

(b) The maximum temperature at
which a solid melts to become a
liquid at atmospheric pressure is

- called its melting point

(c) Particles of steam have more
energy than water at 100°C

(d) Direct change of gas to solid is
called deposition

A — KSCB-A-GAI
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12.

13.

14.

15.

The isotope of which one among the
following elements is used in the
treatment of cancer ?

(a) Uranium
(b) Cobalt
(c) Iodine

(d) Fluorine

Water is a good solvent for dissolving
ionic compounds because

(a) It has a high specific heat
(b) It has no colour
(c) It has a high dipole moment

(d) It has a high boiling point

Which among the following is correct
with respect to bond formation in an
ethyne molecule ? .

(a) Carbon-Carbon single bond
(b) Carbon-Carbon double bond
(c) Carbon-Carbon triple bond

(d) Carbon-Hydrogen double bond

Which among the following are the
main ingredients for manufacturing of
glass ?

(a) Silica, sodium carbonate, borax,
alumina and cullets

(b) Iron oxide, lead, sodium bicar-
bonate, alumina and cullets

16.

17.

18.

(c) Magnesium carbonate, alumina,
silica and cullets

(d) Iron oxide, sodium, alumina, silica
and cullets

Which one among the following
statements with respect to the atomic
number of an atom is correct ?

(@) The number of neutrons is same
as atomic number

(b) The sum of electrons and neutrons
is same as atomic number

(c) The number of protons is same
as atomic number

(d) The sum of protons and neutrons
is same as atomic number

Which one among the following is an
example of endothermic process ?

(a) Combustion of carbon
(b) Mixing acid and alkali
(c) Photosynthesis

(d) Respiration

Which one among the following is
used in the manufacture of ultra-violet
protective glasses ?

(a) Aluminium oxide
(b) Tungsten oxide

(c) Molslbdenum oxide
(d) Cerium oxide
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20.

Match List I with List IT and select the
correct answer using the code given
below the Lists :

List I - List 11
(Pigment in paint) (Example)
A. Natural pigment 1. Chalk
B. Synthetic pigment 2. White lead
C. Reactive pigment 3. Red lead
D. Inert pigment 4. Titanium
: dioxide
Code :
AR O D
@ 1 3.3 4
&) - e e
TR et it S
g 4 3 3 71
Match List I with List IT and select the

correct answer using the code given
below the Lists :

List I oo RastH
(Element) (Unpaired electron)
A. Boron 1. Zero
B. Nitrogen 2. Two
C. Oxygen 3. One
D. Neon 4. Three
Code :
XA -8B D
w1 472 -3
d). 1 /At .
o SN e ol S
dy 3. % 2 1

21.

22.

23.

24.

Which one among the following
biotechnologies is applied to manufac-
ture pharmaceutical products such as
insulin, antibiotics and vaccines ?

(a) WliliteA Biotechnology
(b) Red Biotechnology
(c) Green Biotechnology

‘ (d) Blue Biotechnology

In which organism did Gregor J.
Mendel conduct the experiment to
explain principles of inheritance ?

(a) Groundnut

(b) Garden Pea

(c) Four O’clock plant
(d) Fruit fly

In which layer of the plant tissue Guard

cells are present ?

(a) Palisade mesophyll
(b) Spongy mesophyll
(c) Epidermis

(d) Xylem

Identify the correct option from the
following about the proportion of
different gases in Biogas ?

(a) Methane > Carbon dioxide >
Nitrogen

(b) Methane > Nitrogen > Carbon
dioxide

(c) Methane > Oxygen > Carbon
monoxide '

(d) Nitrogen > Methane > Carbon
dioxide
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27.
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25.

26.

27.

28.

Which one of the following is the
audible range of hearing for humans ?

(a) 20 kHz - 200 kHz

(b) 20 Hz — 20 kHz

(c) 20 Hz - 35 kHz

(d) 20 Hz — 40 kHz

In what form excess of glucose is
stored in human body ?

(a) Fructose

(b) Glycogen

(c) Glucose

(d) Starch

Biotechnological research is promoted
through the development of “Bio-
technology Parks”. Which of the
following is/are essential to bring
technology to market ?

1. Development of new product
2. Entrepreneurship
3. Technology incubation

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only
(c) 1,2and 3
(d) 2 and 3 only

Which one of the following is the
correct chronology of invention/
discovery in the field of Bio-
technology ?

(a) Discovery of Plasmid, Double
Helical structure of DNA, DNA
 fingerprinting, cloning of Dolly

11

29.

30.

(b) Double Helical structure of DNA,
Discovery of Plasmid, DNA
fingerprinting, cloning of Dolly

(c) DNA fingerprinting, cloning of

Dolly, Double Helical structure of

DNA, Discovery of Plasmid

Double Helical structure of DNA,
DNA fingerprinting, Discovery of
Plasmid, cloning of Dolly

(d)

In an ecosystem why is the number of
trophic levels of a food chain usually
limited ?

(a) Lower trophic level has lesser
energy than the higher trophic
level

Because of the loss of energy at
each trophic level

®)

(c) Higher trophic level individual

can control the lower ones more
efficiently

d

Limited trophic level makes a
food chain less vulnerable to
parasites

Which one of the following structure
is NOT found in.prokaryotes ?

(é) Nuclear envelope
(b) Cell membrane
(c) Ribosome

(d) Cell wall

A — KSCB-A-GAI
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31. Consider the following statements

32.

regarding the rotation of the Earth :

1. Since the Earth rotates by 15°

each hour, time zones normally
differ by one hour

. At the International Date Line, the

calendar day changes — advancing
a day for eastward travel, dropping
back a day for westward travel

. Daylight saving time advances the

clock by one hour

. The Moon rotates and revolves

about the Earth in the same
direction that the Earth revolves
around the Sun

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 3 and 4 only
(c) 1,3 and 4

(d 2,3 and 4

Which of the following statements
regarding faunal resources of India
is/are correct ?

1. High degree of endemism has

been noticed in the biodiversity
hotspots of India

2. Of the total biosphere reserves in

India, the Sundarbans has the
largest number of species and
Nokrek has the smallest number
of species

13

33.

34.

Select the answer using the codes

given below :

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following characteristics
of a type of wind :

1.

They occur at upper levels in the
atmosphere

2. They are subjected to two forces, a

. When the

pressure gradient force and the
Coriolis force -

forces balance, air
moves at right angles to the
pressure gradient, parallel to the -
isobars

Identify the type of wind on the basis
of the given characteristics :

(2)
(b)

©

d

Jet Stream
Geostrophic Wind
Westerlies

Easterlies

Where does podsolization take place ?

(2)
(b)
©)

d

Regions in high middle latitudes
Coastal regions in lower latitudes

Regions with hot and humid
climate

Regions having arid climate

A — KSCB-A-GAI



35. 9Kk Hew it Safy & fau e
gfiteeqr & wed # f=fafeg & @
-1 FY del © ?

(a) eRer aReear =1 WR9 U=
foafa, @ Memer, dR-4R
A4 aret foeare Aieier & &9
¥ qET ST GhaT ©

() i IR R & afomresy,
&g § gonfed el & @19 U e
(fs=) aman R

(c) afe-gd (Mar-wa) & fmio &
g-a1y femr SR ®ar § 3k
e & q@d (Ror) e ge v §

(@) st A femm gl gufa @
v € 3R 7t @ fmfor o €
T F IR IR FEwnt § i
W ®

36. afs =geieie & 31 femeR, 2023 &, i
. O9F TATS U AR SR § -4
qrr@ gRit ?
(a) QI 6t IREG 01 S, 2024 ©
(b) <1 S A 30 feEsR, 2023 ¥

(c) e # 31 feweRr, 2023 @k
T4 9l 7 01 e, 2024

(d) T gt # 31 fEer, 2023 IR
JeTTER | 01 Sekl, 2024

37. St % et 3 PR 3 & -
I e e © ?

KSCB-A-GAI - A
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(@ T Pl wnme: AR %
Hew # g

() ¥ T Tt aut A ¥ g

(c) aui S IETHT FO, FI T §
Bt §, e forrelt, sl s gQ W
R Bie I & ghgl T Al & €9
¥ 3 B W R

(d) 3 7 % A FE Gehal W Bt &

38. g [ & gt 11 & gafem Hifsg sk
T & AN fow g e w1 owEm W
E@Wﬂﬁ"{

L

(REETR 41=)
A. TR g/

gl I
(srafeatfa)

1. sieThfes
HEENR

B. IR 0T 5 goriq WETARR

3. edifes
TETENR

C. g&t vaaTe

D. ¥feher &R
-8

4. fég we@TR

8) 3.4 1 .
) 3 1 g 2
[+ T 1 4 3

)2 4 1 3



35.

36.

kg A

Which one of the following statements
with reference to the Nebular Hypo-
thesis for the origin of Solar System is
correct ?

(a) The initiation of the nebular
hypothesis can be considered as a
diffuse, roughly spherical, slowly
rotating expanding nebula

(b) As a result of rotation and
expansion, a disk is formed with
matter concentrated in the centre

(c) Expansion continues with the
formation of the proto-Sun and the
rings of material are left behind

(d) The material in the rings get
condensed and form the planets
that revolve in orbits around the
Sun

If it is 31st December, 2023 in
New Zealand, at the same time what
will be the date in the Hawaiian Islands
and Alaska ?

(a) Both have 01 January, 2024
(b) Both have 30 December, 2023

(c) 31 December, 2023 in Alaska and
01 January, 2024 Hawaiian Islands

(d) 31 December, 2023 in Hawaiian
Islands and 01 January, 2024 in
Alaska

Which one of the following statement
with reference to hailstones is NOT
correct ?

38.

(a) Their formation usually occurs
during the monsoon season

(b) They are associated with dense
cumulonimbus clouds

(¢) Rain that forms in the warmer,
upper layer solidifies into tiny ice
pellets or hailstones in the lower,
subfreezing layer

(d) Hailstones have multiple, con-
centric layers of ice

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I ‘ListII
(Ocean Current) (Location)
A. Kuroshio _ 1. Antarctic
Current Ocean
B. Agulhas 2. Pacific
Current Ocean
C. East Wind 3. Atlantic
Drift Ocean
D. Antilles 4. Indian
Current Ocean
Code :

(a)v w0
B Svay 40
@& 0 43
@2 & %3
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39. ‘Fwr-ag (% TER) F wed #A,
frafafaa & @ sF-wr/sF0-8 s
Tl 8/% ?

. 5% FenhifeE e s e S
?

2.9@ ® A Fad aﬁ%an &
Teferforarer e foid # g oy €

N w0 e oW R Ed S

g :

@ Fad 1
(b) Fa 2
(c) 13R28=t
(@ FAL,TR2
40. &Rt sifortis ot fafies & d@ey
# Frafofea % @ SF-a1 w0 w8l € ?

(a) IS F wHerRE § R, 3w
forft & 3§ wRa N veeht 3k TR
R HIFAT G HIAT B

(®b) FF TN qdEm IR ER I
IqTEH, get @eEl # fwwe &
foq faemies o sk st
i g ey &= A fomr =
form 2 |

() T 2011 ¥ AR & =i foan
RRIN

@ 7 fava ¥ e gaR 9% R
IATCH ST ¢

KSCB-A-GAI - A
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41. fFrafafes & & F9-d@ whw/
- s o = a0 fewm &/8 2

1. Rrehweam ’

2. HTETER

3. faew (Sw)

¥ T Y F¢ W W@ W T W

3fi : ,

(a) a1

(b) Fae 132

(c) FaeT 23R 3

@ 1,233 .

42.3%&&?&13%3%%113’&1‘1‘

Frafafes w99t ® fer A .

1. frht Tae =1 amwE e fafwor
i fuff@dar g

2. % fifmr v i st yare
IOH FRaT § S foret wag @
T TSN I Tl &

3. 7e fafeur Gqem amma: fea &
T gNeE AR I@ kW
FUTCHS BT &

4. R ¥ v o ¥ W A 5o
98 It @ ot @ '

I9GH | ¥ HIT-8 T G § 7
(a) Hhaer 132

(b) Faw 3 3R 4

() ¥ 1,23R 3

(d) 1,2,3aﬁﬂ



39

40.

With reference to ‘Black Tigers’,
which of the following statements
is/are correct ?

1. They are also referred to as
Melanistic Tigers

2. In India they are found only in
Similipal Tiger Reserve in Odisha

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following

statements about the Singareni
Collieries Company Limited is
correct ?

(@) Located at Kothagudem in
Telengana, this is the first and the
oldest coal mining company in
India in the private sector

It has now diversified into thermal
and solar power generation,
explosive = manufacturing  for
blasting in opencast mines and
consultancy works

(b)

(c) It has been conferred with
‘Navratna’ status since 2011

(d It is the singyle largest coal

producing company in the world

17

41.

42.

Which of the following  processes
is/are part of the Rock Cycle ?

1. Lithification
2. Metamorphism
3. Solidification

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3

Consider the following statements

regarding the temperature of the
Earth’s surface :

1. The temperature of a surface is
determined by net radiation

2. Net radiation produces a radiant
energy flow that can heat or cool a
surface

3. Net radiation balance is usually
positive during the daytime and
negative during night time

4. Soil surface loses energy as
temperature increases during the
daytime

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) . 3 and 4 only
(¢) 1,2 and 3 only
(d 1,2,3 and 4

A — KSCB-A-GAI



43. frfafea st ® fer fif .

1. el gaT w aui-fafaa woet @
I % forg Suzges w@E ST §

2. et Hor @ sEfy & forq
U0 SR wHhdl g, Fred wEet @
U =g # W Shifed @A # gemar
et @

I9gTh wEA & gy A frafafea § @
aﬁﬁ-m/aﬁa-%waé}%/%?

(a) THT FF WE € AR A 2 A |
- f T e

(b) AT FF TE & AR FUT 2 T |
& et e w8 T

(c) Fa9 1 a@%ﬁ@wzm%

(d) a7 1 7o § forg a1 2 @E @

44, Frafafaa # & S9-91 20 3Ra wEEw
o femm adi 2

() Faa
(b) 3T
(c) «femr

d) T

45. ‘siegforr & <ol 92’ & wed H,
- fr=fafee # & S-wr /AR W
el 8/ ?

KSCB-A-GAI - A
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46.

47.

1. 78 fég wemrR & fem fm

2. g%l 3% aféal & we gk sk
a3 aut B ®

T fig T Fe @ W R IR g
(a) Faw 1
(b) ¥ 2
(c) 13Kk 23t
(@ TA1L,TE2

S 1+(1x2)+ (1 x2x3)+ ..+
(1 x2x3x..x500) 8 ¥ fawifra
feram v ®, A Ywwa T BT ?

(@ 1
(b) 2
(c) 3
@ 4
et stefaa & S & ©ed W &

TR &A% 9 Prouds g’ sw
T s (Tl ) = g 2

@) 15°
(b) 30°
(c)‘ 45°

@) 60°



43.

44.

- 45,

Consider the following statements :

1. Black soil is considered suitable
for growing rain-fed crops

2. Black soil can retain moisture for
a prolonged period, aiding crops
“to survive even in dry seasons

With regard to the statements given
above which of the following is/are
correct ?

k (a) Both the statements are correct

and statement 2 is the correct
explanation of statement 1

(b) Both the statements are correct
and statement 2 is NOT the

correct explanation of statement 1

(c) Statement 1 is correct but state-
ment 2 is false

(d) Statement 1 is false but state-
ment 2 is correct

Which one among the following
countries is NOT a part of the Arabian
Peninsula ? :

(a) Kuwait

(b) Oman

(c) Libya

(d) Yemen
With reference to ‘South Coast of

Australia’> which of the following
statements is/are correct ?

46.

1. It is situated along the Indian
Ocean

2. It experiences rain during its
winter months of December and

January

Select the answer using the code given
below :

(a) 1 only
(b) - 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The remainder, when 1 > (1x2)+
(1x2x3)+...4(1 x2x 3% _..%500)
is divided by 8, is

L

47.

(b) 2
©) 3

(d 4

The angle (in degrees) made vby a
sector having area one-sixth of the
area of a semicircle is

(@ 15°

(b) 30°

(c) 45°

(d) 60°
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48.

49.

50

frafafea & & -1, w@n 11, 12,
13, .., 20 # ¥ WS G & g Ui
TUISTt & StEd ® ? '

(a) 405

(b) 42:5

(c) 445

(d) 465

frafafes 3 ¥ S-wr /293 ==
el /T ?

1. ¥R §&A131 10, 15, 20 3R 25 =
dMad 175 %

Z.Hﬁa,bﬁ(cﬁﬁﬁﬂﬂﬂ‘fﬁw
WW%&F a+b+c=abec,qd
a, bR cwANga 3 8 _

= fow g e w1 v W I 9P

(@) %ar-rl"

(b) Fae 2

(c) 1R 23t

@ TAAM1L,TE2

X IR Y & adam ag (@t #)

AT Y 3R Z H adwm g (ast #)
F AT & SR § | afe ¥ Y adam
ag 15 af §, @ feaffam & ¥
aﬂ:r—mxyaﬁtzﬁa@(aw‘fﬁ)?ﬂ
TR B AT @ ?

(@ 35

(b) 40

(c) 49

@d 55

KSCB-A-GAI - A
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51.

52.

5%

afe x+316-=2'3f +—;—2 <l A
frafafea # & S=-w1 € 2

(@ -1

(b) 0

© 1

d 2

T TEMER 7 30% f wi W R
IeaTg =9 | afs e fosa 5= 2150
Fferh BT, a9 10% H AW B |
W Y T AT ?

(a) %375
(b)" T400
() T425

(d) %450

A, B 3R C feelt @ =t s 20, 25
R 30 A A U R g § | ¥ oA
@ wH wa € g B A R =
w4 FRA & G F N DS @R | Tg
i Iw ¥ fhaw At & @ @
ST ?

(a) 95 R

15
(b) 10i ﬁm

14

©) 102—5 fem

1
(d) UTB fea



48.

49.

50.

Which one of the following is the
average of first five multiples of each
of the numbers from 11, 12, 13, ..,
207

(a) 405

(b) 42-5

(c) 445

(d) 465

Which of the following statements
is/are correct ?

1. The average of four numbers 10,
15, 20 and 25 is 17-5

2. If a, b and c are three different
natural numbers such that
a+ b+ c=abc, then the average
ofa band cis 3

Select the answer using the code given
below : :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The ratio of present ages (in years) of
X to Y is equal to the ratio of present
ages (in years) of Y to Z. If the present
age of Y is 15 years, then which of the

following can be the sum of the ages
(in years) of X, Y and Z?

(@) 35
(b) 40
(c) 49
(d) 55

21

51.

52.

53.

If x+316-=2, then which one of the

following is the value of x> +x—§z-?
(@ -1

® 0

(c) 1

@ 2

A shopkeeper sold a product at 30%
loss. Had his selling price been X150

more, he would have made a profit of
10%. What was the cost price ?

(@ %375
(b) T400
(c) T425
d) T450

A, B and C can finish a work in 20, 25
and 30 days, respectively. They start
working together but B quits after
working for 3 days. In how many days
from the start shall the work be
completed ?

8
a) 9— days
(a) e |
(b) IOLdas
¥ i
14
¢) 10— days
© oy

(d 11% days
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54.

SS.

56.

A T A4 IR B T TR H AN
20 fime 3k 15 fife § W wa € |
T T C R W g H W 6 e F
et FR HHAT § | T WA & g
T A 3R B 1 5 fire s & =7g, oy
H et IR & T 79 ¢ 9 Qe R
AT §, Wafh 4 3R B W AR W
T | URY A & fraw fee 9w
Tl Gt B ST ?

(a) 10%&'-12
(b) 10% fime
(©) 10%1?4?12
(d 11% frme

A ¥R BT B 7iqe W qga & forg @
T TG W oA ARA KA & | B, 4 9

wie & 3 wfis ¥ woar & 3K Tiqed )
AFUEH & 1 9 20 e ¥ Wr
YRS § | T W g & foig B gRr
feraer Tz forar a2

(a) 4 ¥eT 40 firme

(b) 4 e 55 fime

(c) 5¥ers fime

(d) 5 wer 15 fime

UG <t F 12% A T g |
¢ =feh Uil 6t @ua # forem whre
Ft F W e 398 g7 e w e
W AT =g # A Rade T8 o ?

KSCB-A-GAI - A
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() 86%
(b) 98%

" (©) 107%

7

58.

59,

@) 12%

afe 19a+ 196+ 19¢ = 437, A q, b IR
c & 3ftEa (mean) T § ?

(a) 633
(b) 7-66
(c) 933
(d) 1155

BT AN 1,2,3,4,5 3R 6 7 A; 3ic
gREf & o @ st R R
AT SATE ST gahdt § ?

(@ 6
(b) 15
© 30
d) 40

T& E 60 km/hr S wiE & T
A Y TH WCHH @l 20 Vs F IR
FA R | e B R F 6 km/hr
wie ¥ 9@ ® s 3 98 3 12 Yo
H UR aell ® | o 3R <ewnt Y dard
FAM T ?

(@) 160 m 3 15333 m
(b) 170 m 3R 166-66 m
(c) 180 m 3 153-33 m

(d) 180 m 3R 170 m



54.

35

56.

Two taps A and B can fill a tank with
water in 20 minutes and 15 minutes,
respectively. A third tap C can empty
the full tank in 6 minutes. After the
taps 4 and B fill the tank for 5 minutes,
the tap C is opened to empty while
A and B continue to fill it. In how
many minutes after the start shall the
tank get empty ?

(a) 10% minutes
y

(b) 10; minutes
e

(c) 10—5- minutes
< 3 B

(d) 115 minutes

A and B start at the same time to reach
the same destination. B travelled at %—

of A’s speed and reached the desti-
nation 1 hour 20 minutes after 4. What
was the time taken by B to reach the
destination ?

(a) 4 hours 40 minutes
(b) 4 hours 55 minutes
(c) 5 hours 5 minutes

(d) S hours 15 minutes

There was a hike in petrol price by
12%. By how much percentage should
a person decrease his petrol con-
sumption such that there is no change
in his expenditure on petrol ?

23

37,

58.

59.

(a) 86%

(b) 9-8%

() 10-7%

d) 12%

If 19a + 196 + 19¢ = 437, then what is
the mean of a, b and ¢ ?

(a) 633

(b) 7-66

(c) 933

(d) 11-55

Out of the six digit's 1,2,3,4,5 and 6;

how many two digit numbers can be
formed without repetition of digits ?

(@ 6

() 15

(c) 30

(d) 40

A train travelling at a speed of
60 km/hr crosses a platform in
20 seconds. The same train crosses a
person who is walking at a speed of
6 km/hr in the same direction as that of
the train in 12 seconds. What is the

length of the train and that of the
platform, respectively ?

(a) 160 m and 153-33 m
(b) 170 m and 166-66 m
(c) 180 m and 153-33 m
(d) 180 m and 170 m

A — KSCB-A-GAI



60. T WRIGR! W &, 4 3 faw & 14

61

62.

W A ¢ srafy & forg P awar 2,
B 3 fRw ¥ 13 s o 3 sy 3
forg fRy oxar @ w&fE ¢ A 9w A
f wEmEfy & fog few wwar @
346,00,000 % FF oW F ¥, C &
few feramn g 2

(a) 30,00,000

(b) 32,00,000

(c) 34,00,000

(d) %36,00,000

.Aaﬁwﬁatrg(aﬁﬁ)-ﬂu‘mzz%l

A A T SR AY W IPEE
77 @1 | feafafea & ¥ -ar, sad
AT G o IR H A © 7

(@ 2

() 3

(c) 4

@ 5

Teh GHIGR G T&JU 4 R B<=aT © |
IE] B W 4 4, & A & 59 T 5

QAT B | QAFGR 9%g 4 9 10% &
W W S9dT § AR 96 B W 20% A

W o € | fefafe 3 @ g8 (Fe)
AN ARAT TG ?

@ 15%
(b) 13-33%
©) 18%
d) 16:66%

KSCB-A-GAI - A

24

63.

64.

65.

100 BT 6 Ueh el § |, 25 DA T Y
F forthe 3R Feame e £, 15 O
F ¥ o0 Tk ok & dw §,
12 BT &H § HH FeaTd 3R gl Ter
? 3R 10 o @t 9T S Tom § |
TRk, Featar ok efdl Gem e ot
$T WG HEM: 50, 37 IR 22 ¥ | A
BAT H HEAT TRt @ M AT H A
FE W O 7E T © ?

(a) 33

(b) 23

(c) 27

@ 30

Ui iRt & Tk qug @@, fred
fa () st wife , o= Fow &
fog Memst R 51 | W@ et
Fd e feat ®, e dy H
e W o w o oy o g
& e § AE A3 ?

(a) 24

(b) 18
(c) 12

d) 6

& Al e &t A9 SR e
ST 3R S gRomw A e 9
g1 3w @ e () ww B @
TTfreRdr w1 § ?

(a)
(b)
(©)

(d

P|W V| N|—= W
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61.

62.

In a partnership firm, 4 invests —é-th of
the total investment for %th of the
tenure. B invests %rd of the total

investment for %rd of tile tenure while

C invests the remaining part for the full
duration. Out of total profit of
%46,00,000, what shall be C’s share ?

(a) ¥30,00,000

(b) ¥32,00,000

(c) %34,00,000

(d) 36,00,000

The sum“of the ages of 4 and B (in
years) is 22. The product of their ages
two years back was 77. Which one of

the following is the value of the
difference of their current ages ?

(@ 2

®) 3

(c) 4

@ 5

A shopkeeper sells two items, 4 and B.
Item B’s cost price is twice as that of
item 4. The shopkeeper sells item 4 at -
10% profit and item B at 20% profit.

Which one of the following is the
value of net profit ?

(a) 15%
(b) 13-33%
(c) 18%
(d) 16-66%

25

i -

63. Out of a class of 100 students, 25 play
at least cricket and football, 15 play
at least cricket and hockey, 12 play
at least football and hockey and 10
play all the three sports. The number of
students playing cricket, football and
hockey are 50, 37 and 22, respectively.
'The number of students who do NOT
play any of the three sports is

(a) 33

(b) 23
(c) 27
(d 30
. A group of five people consisting of
- a couple are to be seated on a round
table for a meeting. What is the total
number of ways in which the seating

arrangement can be made so that the
couple do NOT sit next to each other ?

(a) 24

(b) 18

(c) 12

@ 6

A fair coin is tossed three times and
the outcomes are noted. What is the

probability of getting exactly two
heads ?

w |

(@
(b)

©

®lw ol N

(d)
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66. St ¥ WAl waredt Wt F KW
AT # 9w 3R TSt (Rew) /
%&Tﬁm%mﬁﬁwﬁﬁam
R fEr fifvg -

1. forelt et g <t o 3 firet 5T
Fdt @t folw wrafierar & s o

2. e Rl g s ¥ oW
et afeensit % Sy-frme &

A

I9gE H 4 aﬁﬁ—m/aﬁw-% FIT a8l
q/% 7

b(a) *Had 1
(b) Haw 2
(¢) 13R2@
" (d) aa‘n,#é’tz

67. Freff 3 & G- T & 2

1. ERT MeAs g e F9a% 1932 7
deT § R Ariert & oA
BT

2. R Mo e eq 7 g =l %
IRUMTHEEEY AR TR rfifam,
1935 wiftd gam

3. WRd TR At 1935 % widg
W@ERIAT & =R & 9et wet for

4. 1935 & rfifems # ek & ol
WId T W& G R T
s uftw & & T
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 68.

69.

2 fez

3 fag 0 g 1 e TR 9P
(a) 334 '

(b) 1aﬁi2

(c) 233

(@ 13Rk3
ﬁmﬁ%au@raﬁtmﬁm%w_
q’(ﬁﬁﬂiﬁﬁq _

1;7%?357731‘) : rforg

: faferear &
3. ISR THITE

ST et F ¥ Ae-E /AR w
gafera /8 2 - :

(a) Faa1
(b) FaT2
(c) 132
(d) 233
SR Rreorg & &/ W wem € f,
T Haq & 729 99 #, TgeAA & WEA
% SR HISOT WM AT 97 | 59 T
IHEA & AW wHI CE | 18R ?

(a) 150 CE

(b) 181 CE

(c) 130 CE
(d) 120 CE
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67.

Consider the following statements
about the costumes and headgear/
hairstyle in India during 4th-7th
century AD :

1. There was a marked preference
for stitched garment as compared
to any previous age

2. Simple plaits without any floral
embellishment dominated the
hairstyle of women

Which of the statements given above
is/are correct ? '

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements are
correct ?

1. The Third Round Table Confer-
ence met in London in November
1932 without the participation of
Congress

2. The discussions in the Third
Round Table Conference led to the
passing of the Government of
India Act, 1935

3. The Government of India Act,

1935 did not favor the idea of |

provincial autonomy

4. The Governor was not given any
power in the Act of 1935 to take
over and run the administration of
a province

27

68.

69.

Select the answer using the code given
below :

(@) 3 and 4
(b) 1 and 2
(c) 2 and 3

(@) 1and3

Consider the following pairs of texts
and their subjects :

1. Tilakmanjari Mathematics
2. Nighantu Medicine
3. Janakiharan Logic

Which of the pairs given above is/are
correctly matched ?

(a) 1 only
(b) 2 only
(c) 1and2

(d) 2 and 3

The Junagarh inscription goes on to
tell us that during the reign of Rudra-
daman, in the year 72 of the Saka era,
there occurred a terrible storm. What
would be the time in CE of the
occurrence of that terrible storm ?

(a) 150 CE
(b) 181 CE
(c) 130 CE

(d) 120 CE
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70. foo@ TR 1§ A A A e

7L

72.

AT A Fosta R & sme g samariat
& ufefy @ S frr o1 3k @
ol g7 o oo TR a1 Y =@t &
AR & HISH e smasaes s g
AT | IR ek gRT formr wromfer & sq
1 Ieorg TR T ?

(a) =R

(b) wu

(©) T

(d) T

Fifeca & spfore A, s e @
afa ar &6 a8 e @ -8 &
o e sae e = | T
fadw wrnfore saae fe w smanRa
o ? '

(a) HaoT I FEEIT R

(b) &, Tvf 3R T AT |
(c) *ad g5 |

(d) Fu 3R JTHH FEET R

e wRa A Frafafa @it (eras)
Wﬁﬂ%‘l{

1. V&F @A

2. A A

3. T =t

4. g4 &

5. @ F
Frafafea & & =-ar, snft & smw
R §Y, ITITH HTeA| T Tl AT
27
0 1-2-3-4.53

)31 8508 4
Gl 3-8 045
Wy 351034 0
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74.

To.

TAlRT feergsieg a1 & 7

(2) IR g T grEeht & w9 A
Hehferd T

(b) TERI grT W W ()

(c) <t et ¥ g < wgfvat

(d) g™ ¥ FHEe & @t
e

AHHFC A % JwE gaRAT

stafat # aR-ear  Sfeifea  gfy

(bhuni), W9RT (pachara) 3R gurdt

(dopati) T & ?

(a) =fifer Jera # IgarT fFe s T
8Tq & oA

(b) Y Sy

(c) arer fog Iwa & wHa wgeh wha
CIGEE]

(d) g1 & & & WA

e THe, 1919 & gay # fafafeg

91 R fomm hifg

1. 3@ ifge Affa sefe
R aiika femar &

2.30 & @ Rl w=w % fag
Raewa wfufa =1 o7 forar mar o

3. st i fiRwaR @R forar o,
Stafd wE AdqrEt B Ry s
@ & FAfd & wE ot

Soh # & o e vl AE /8 2
(a TH

(b} o

(c) @

(d) =g 7w



70.

71.

72,

Abdur Razzak, the traveler to Vijaya-
nagar, had referred to the presence
of a number of flower merchants in
Vijayanagar and noted a particular
flower that seemed as necessary as
food to the people of that part. Which
variety of flower was being referred to
by Abdur Razzak ?

(a) Jasmine
(b) Lotus
(c) Hibiscus
(d) Rose

In Kautilya’s Arthashashtra, the con-
querer king is expected to establish, in

the conquered territories, a social order
based on the

(a) varna system only

(b) dharma, varna and ashrama
systems

(c) dharma only

(d) varna and ashrama systems

Consider the following eras in early
India :

1. Shaka era

2. Kalachuri era
3. Vikrama era
4. Harsha era

5. Gupta era

Which one of the following is the
correct chronological order of the
above eras starting with the earliest ?

& 1.3 1-§-3
TR
€2 3. -1-4-5
W3- 1-2-7:4
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73.

74.

78.

What is Nalayira Divyaprabandham ?
@

Compositions by the Alvars com-
piled in the form of an anthology

(b)
©

Hymns composed by Nayanars

Eulogies composed for Chola
kings

(d) An exposition of the hymns of

Rig Veda in Malayalam .

What are bhuni, pachara, and dopati
mentioned frequently in the bio-
graphies of the Vaishnava reformers
of medieval Assam ?

(@)

Vessels of metal used in religious
oblation

(b)
(©)

Agricultural implements

Musical instruments used at the
time of Bohag Bihu festival

Pieces of men’s clothes

(@
Consider the following statements
about the Rowlatt Act of 1919 :

1. It was passed by the Imperial
Legislative Council

2. Khilafat Committee was formed
to oppose the Act

3. While Gandhiji was arrested, the
local leaders were allowed to
continue the protest

How many of the above statements
is/are NOT correct ?

(@) One
(b) Two
(c) Three
(d) None

A — KSCB-A-GAI



76. T& e w9 wgmeEt =1 &
ey ¥ fwafafes 0@ — =R
T .

1. 7% fooma R o & w3 wEl
TdwwEat

2. 38 R T wf) Ba @
I9gh # | -1 /HT-8 A qe
®/R?

(@) shae 1

(b) et 2

(c) 13284t

(d TA1,TE2

Ao & faeg gean fage & ey &
fraffa A SR-A m adt € 7

1. it 3 woae & e *
foreg, vl o =it sgmET 3 A
e o

2.W%ﬁﬂ€rﬁm=ﬁwﬁ
e &

3. 1705 #, 3RT™a ¥ AE & 9T
wify enfig s = fofla fmn
IR BAE & IR BIR A F7GF
e o

- A fw T e @ ERT W) S g
(a) asam‘aﬁtz
(b) Hae 23X 3
(c) FaeT 133
) 1,23R3

T

KSCB-A-GAI - A
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78. W HA H T ANR & qay #
frrafafea sgat w faer fifte .

LS9 WA ¥ gl & wew R
[ gl = aRaea e

2. T GRI G@A A T SR Awe
e fog sa ¥ 3R W =)
frafa forar stmar an

I § ¥ HH-G1/FH-¥ FIT GEl
/%7

(a) sad 1
(b) e 2
(¢) 1R 23t
(d TAL,TE2

79. Rrarstt gy fom e gt e fomifor
feram T a2

1. gt
2. T
3. faggt
4. wraTan
- fou T e W R SR g
(a 1,2,33R4
(b) Faw 1,234
(c) Faa33R4
(d) Fa@2 3R 3



76.

Consider the following statements
about Mahanavami dibba, a massive

- platform :

1. It is situated on one of the highest
points in the city of Vijayanagara

2. Virupaksha temple is located on it

Which of the above statements is/are :

correct ?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2 -

77.

Which of the following statements
about the Bundela rebellion against
Aurangzeb are correct ? :

1. Shivaji advised Chhatrasal to
promote local risings against
Aurangzeb :

2. Chhatrasal levied chauth like -

marathas

3. In 1705, Aurangzeb decided to
make peace with Chhatrasal and
Chhatrasal was granted mansab of
four-thousand

Select the answer using the code given
below :

(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

() 1,2 and 3

31

78.

79.

Consider the following statements
about the Dutch trade in Mughal
period : -

1. The Dutch transported silk goods
from Bengal through Hooghly

2. Cloves and nutmegs were
collected at Surat by the Dutch
and exported to Europe

- Which of the statements given above

is/are correct ?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which naval forts were erected by
Shivaji ?

1. Suvarnadurg
2.' Vijayadurg
3. Sindhudurg
4. Kolaba

Select the answer using the code given
below :

(@) 1,2, 3 and 4

(b) 1,2 and 4 only.

(c) 3 and 4 only
(d) 2 and 3 only

A - KSCB-A-GAI



80. eI 3 3w i Afeaedn ¥ @y A

frafafea # & as‘h-m/aﬁﬁ-a?‘ FIT
a%*r R/R7

1mameﬁwa—@aﬁ

s 6t 3R Sopee sTee 3R AN
T

z.saaaﬁl%aﬁmamﬁiﬁaa-
TaE & U fieq A s IR
TER At 51 TE

3. @9l Wa (FHET H) sr@"a:-rr%
& A9 FYA & forg ST S| °r

ﬁ%ﬁgﬂqagaﬂm?ﬁ{wgﬁq:
(a) a1
| (b) ae 1 3R 2
,(;:) %mrzaﬁts
(d 1,23R3
81. AT %&w-wﬁm THRTEGFR
eRE d R ftofea # @ f
A F TEEP FFX F ®T A
Tafea form & 2
1. forpa sk st
2. S
4. fq=mg
5. faram
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82.

83.

7= fou T e @ wENT R SR 9
(@ 3,435

(b) Fad13R3

(¢) 1,234

(d) ’1,33ﬁ14
Frafafeaa # &, wra & e asgafy 4

THR (dae) fodaen, 1986 A wew
& qAfdER ¥ forg amom S an 2

(a) IR. dheEA
(b) Y T Wt
(c) ¥ 3 firg
(d) ¥. R, TR

forerat FHET 2026 Wl el

3R Rrefus Gl & Welteh (Emblem) &

ey A frafafee @ ® few

I :

1. Wi &1 W “WERT (Futura)’ &

2. defis F sfem # weeh @R
AHBT AAGH (de) F gRT T
Gl & Wlieh Sl AT AT AT

ITH § ¥ WA /AT T wh

e

(@) Faa 1

(b)) HEA2

() 13R2e
(d) ae?n,wﬁz



80. Which of the following statements

81.

about the economy of Assam in the
medieval period is/are correct ?

1. Ahoms cast excellent matchlocks
and made first rate gunpowder and
artillery pieces

2. Assam adopted new crafts of
brass-casting and making granu-
lated sugar during this period

3. Sarthebari village (in Kamrup)
was known for its skill in metal

casting

Select the answer using the code given
below :

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

@ 1,2 and 3

Which of the following sectors have
been identified as ‘critical 'sectors’
by the National Critical Information
Infrastructure Protection Centre ?

1. Power and Energy

2. Industry

3. Banking and Financial services
4. Trrigation

5. Education

33

82.

83.

Select the answer using the code given
below :

(@ 3,4and 5

(b) 1 and 3 only

(c) 1,2 and 4

(d 1,3 and 4

Who, among the following Presidents
of India, sent back the Post Office

(Amendment) ‘Bill, 1986 for the
reconsideration of the Parliament ?

(a) R. Venkataraman
(b) Shankar Dayal Sharma
(c) Giani Zail Singh
(d) K. R. Narayanan

Consider the following statements
about the emblem of the Milano
Cortina 2026 Winter Olympic and
Paralympic Games :

1. The name of the emblem is
‘Futura’

2. The emblem of the Games was
decided by a popular vote for the
first time in the history of the

Olympic

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Bboth 1 and 2
(d) Neither 1 nor 2

A — KSCB-A-GAI



84. WIRT ! T Yed, G (SAGAR) &

oy A feafafea & @ s-w1 =9

qw e 7

(2) 38 QUAD & " wgeh AR
A Tl A & fou uw w9 @

(b) 3HH Iewd feg we@ER &= & ot
& |1 TG WA QT o @

(c) F% fég weETR &= ¥ PR a9
TR RIS Sl GREAT WeH
& fow 9ra, s@fer (UsA) sk
SITIT T TS ©

(@) T EIH T g uReg gn

85.

s fo g w sdd W HOh
WE (FeFe 9 T wrsE) #
HRA it WRiER! i fear w@r am @

T 1= o R gife S ek
T F A R T o =
Hﬁwgﬁm:

T 1
sy
THAA)

A. COP-26
B. COP-27

C. COP-28
D. COP-29

%e @

g 11
(3)

1. frm
2. FAAESH
3. gaTses faretw

4. UAE

(2)
(b)
©
(d

W NN W P
- A =~ b~

-P’—‘A»—-O
S SR U T U N

KSCB-A-GAI - A
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87.WYh A  wWAR

86. AR & dfarw & fFrafafea fm
. AR & i, w9 a1 sy Y Rifdw

a1 & wE wew @ ¥ fafufeg
Te=gq foRT ST & EREAVT HIT Hehd § 7
(a) IT=% 309
(b) ST 311
(c) IT=e 315
(d) FIT=% 320
FA  FeA

(UNCLOS) & daiy & frafafea & @
HIT-¥ HIT TR B ?

1. UNCLOS fafire anfffes &=t w=
wwy AR & "ey # TSl &
d= faag & A # Ggee U
TRe IRug @l Welt et W= &
ferq st e @

2. UNCLOS e &5t =t aiefra
AT & 3R ¢ wrEl & fafifee

AT ®

3. wRa R smfe (gug) %
UNCLOS & Jiawd fomm 2

4. UNCLOS %-5g Tsdl &l Hfaed
HUFR WG\ waT B

T f3T T Fe w1 W W IW g
(a) Haer 1,234

(b) Shaer 1 3R 2

(c) w2 IR 4

(d) 1,334



84.

8s.

Which one among the following state-
ments with regard to India’s maritime
initiative, SAGAR, is correct ?

(@ It is a platform for conducting
joint naval exercises under QUAD

(b) It aimed at promoting maritime
cooperation with countries of the

Indian Ocean Region

It is an alliance of India, USA
and Japan to provide safety to
merchant ships passing through
the Indian Ocean Region

©

(d) It is the name given to India’s
participation in the Contact Group
on Piracy set up by the UN

Security Council

Match List I with List IT and select the
correct answer using the code given
below the Lists :

List I List II
(Climate (Country)
Conference)
A. COP-26 1. Egypt
B. COP-27 2. Azerbaijan
C. COP-28 3. United Kingdom
D. COP-29 4. UAE
Code :
A B:C P
L 1 2
&y 2 1 4 -3
{c) 2 - 1 3
) 3 SRS e
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86.

87.

Under which one among the following
Articles of the Constitution of India,
a member of a Civil Service, whether
of the Union or of a State, seeks
protection from unlawful dismissal
from service ?

(a) Article 309
(b) Article 311
(c) Article 315

(d) Article 320

Which of the following statements
are correct with regard to the UN
Convention on the Law of the Sea
(UNCLOS) ?

1. UNCLOS authorizes the UN
Security Council to take a direct
action in case of the disputes
between States on sovereign rights
over Exclusive Economic Zones

2. UNCLOS defines contiguous
zones and specifies its functions

3. Both the US and India have
ratified UNCLOS

4. UNCLOS grants certain rights to
Landlocked States

Select the answer using the code given
below :

(a) 1, 2 and 4 only
(b) 1 and 2 only
(c) 2 and 4 only

(d 1,3 and 4

A — KSCB-A-GAI



88. frferfes & ¥ Fh-w1 /3-8 =
T R/E?

1. 7T afife ¥ smews fasim
R & &9 § @ wWien ¥ @it
I gus FA A Ry fi

2. ARAE AE  WITEA wra ED)
AT 8. 9 UH., UWesl i
Trefter & srgeR forar

i fou g % 1 W W W g
(a) *aa 1

(b) e 2

() 1323t

@ ANL,AR2

. Feafofea & @ SF-d Raé st 2
o oo N, g F fifte = wiftet &

WA TG & &9 | 61, afeh U glaw
wifshaT & &9 ¥ <@ wiran © Rradt e
IR =9 & foraal o1 Suan seferae
$ R = vl =3 ¥ fw =
AT ® ?

(a) wmafe gar affa fad
(b) TR s far
(c) wreea wfufay fard
(d) =g & e w wrea R

89

90. G20 f =T & day ¥ f=fafea
T Y H9-9 99 98t § ?

KSCB-A-GAI - A

1. G7HaM W G20F v &
2. BRICS & a¥ 30 G 20% ¥e7 ©

3. ASEAN & &%t 37 G 20 % &=t &

4. e uReg & |t @Rt wew
G20 % WeE §

9 g g e = e R I g
(@ 1,233
(b) Fad23R 4
(c) 13R4
) 2,33R4

91. Fr=fafes & @ sF-w1 /a7 ==
et e/8 7

1. IRd & ®RgW & wrr-mr #
safde g8 AR Faa 5T &
fora wada €

2. Ra % duE & wWm-m #
Fafdee g8 AfaR Hae ARt
& 98 A yaadT §

3.99Rd & wfeum & wmr-mn #
Faffe g AR T 3R
=feh, oMl & o waddia &

= fSu g g & W W I g
(@ Faet 1 9% 2

(b) FHae2

(c) Hae 1

(d) 1,233

36



88.

89.

90.

Which of the following statements
is/are correct ?

1. The Muddiman = Committee
recommended the separation of
Accounts from Audit as a
necessary financial reform

2. Indian Institute of Public Adminis-
tration was set up on the lines
recommended by Dr. Paul H.
Appleby

Select the answer using the code given
below :

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
reports states that the budget is seen,
not as a simple balancing of tax
receipts against expenditure but as a
sophisticated process in which instru-
ments of taxation and expenditure are

used to influence the course of the

Economy ?

(a) Administrative Reforms Com-
mittee Report

(b) Hoover Commission Report

(c) Haldane Committee Report

(d) Plowden Report on Control of
Expenditure

Which of the following statements
are correct about the composition of
the G20 ?

37

91.

1. All G 7 countries are members of
G20

2. All BRICS countries are mcmbers
of G20

A3. AllASEAN couhtries are members
of G20 :

4. All permanent members of
Security Council are members of
G20

Select the answer using the code given
below :

(@ 1,2 and3
(b) 2 and 4 only
(c) 1and 4

(d 2,3 and 4

Which of the following 'statements
is/are correct ? )
1. Some Rights contained in Part-III
of the Constitution of India are
enforceable against the State only

2. Some Rights contained in Part-III
of the Constitution of India are
enforceable in favor of citizens
only

3. Some Rights contained in Part-III
of the Constitution of India are
enforceable against both, the state
and individuals

Select the answer using the code given
below :

(a) 1 and 2 only

(b) 2 only
(c) 1 only
(d 1,2 and 3

A — KSCB-A-GAI



92. g I = gt 11 & gafera Hifvg sk

gEE & A fRu U e W owEn W
@1' B0
(@ / (farfera A=
wfufa) qdar | gamEn
. WW)

A. SR 1. Taferear sk
_ @ i &R

B. @iy Wg
wfufy 2. FE 12 % 9%

et da1 &

C. 4. & dar  forg waw wen
E.” R 3. fthed AT

D. . . ¥, *ﬁ‘qmqﬁ'*‘“
Feg afufr

4. fofem dar wom

wien (fofaa

IR ATETEHR)

xe : |

Ao B CCED
S e Gy
b 4 :2.34 3
e U Rk e
TR N

93. WRa & wfaa & frafafea sl
# ¥ el e TRafE &
Fagfaa sfa 3R sgfya SWenfa &
o v aRfda € 2

KSCB-A-GAI - A

94.

9s.

(a) 2437

(b) 2438

() 2437

(d) 2433

Freafihes ¥ & e/ m
T R/E?

1. YT @ wE afafEm, 1923
o oww W f ReRe @R
wyrafis gar afify gry & wE @

2.113'—11 w1 fer sfufm o
2005 ¥ srftrferafer foram A

A Ry T e T N R IR 7P -

(a) ae 1

®) ¥@2

() 13R23t

(@ - 7AA1L,TE2

ARA G ‘gﬁam uffa”’ (DRDO) 7=

(ER '

(@) s-merdni Affe P

(b) 9G¥ 9 § AR IA ATl
(TR-g-TR) Frarzer

() STe-¥t (Tr-Hewrse) frameer

(d) AR St -afera stsemo

W(Wmm
EELIG))



92. Match List I with List II and select the -

correct answer using the code given

below the Lists :

List I
(Commission/
Committee)

A. Kothari
Commission

B. Satish Chandra

Committee
C. P. C. Hota
Committee
D. Prof.
Y. K. Alagh
Committee
Code :
A B
(a) 4 1
b)) 4 2
53 1
@3 2

C .D
2 3
1 3
2 .4
ik 4

List IT

(Suggested Reform
in Civil Services

Examination)

. Inclusion of

Medical and
Engineering
subjects

. Entrance

Examination
for Civil
Service after
Class XII

3. Objective

methodology
for personality
assessment

.. Civil Services

Mains exami-
nation (Written
and Interview)

94.

95

(a) 243R

(b) 243-S

(c) 243-T

(d) 243-ZA

Which of the following statements
is/are correct ?

1. The abolition of the Official
Secrets Act, 1923 was recom-
mended by the Second Adminis-
trative Reforms Commission

2. The Right to Informaﬁon Act was
enacted in 2005

Select the answer using the code given
below : :

(a) l‘only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

“Mission Shakti” (DRDO) is the name
given by India to

(a) Inter-Continental Ballistic Missile

(b) Air-to-Air Missile

93. Under which one among the following

Articles of the Constitution of India, (c) Anti-Satellite Missile

the seats are reserved for the Scheduled

Caste and the Scheduled Tribe in every (d) Nuclear-Powered Attack Sub-
Municipality ? marine

39 A — KSCB-A-GAI



- 96. frafofaa waat | faer fifsa .

1. 159 fa= s A qoe yeag

& IR 149 o s @ i
(eifstives
feaem) & fou wrge & &9 #

AT EEA

feran

2. 149 3R 159 fam s, &t A
B, aHEE |anEEE & fou wmee
FETH 2011 ® qF & SHaiferhg

=R &1 I9GRT femat

S # ¥ B/ T

/%7

(a) sad 1

(b) Hae 2

(c) 1323t
@ TNL,TR2

97. Frafafea & @ foad, wfig wRar
WA FEAE 4 ¥ A T IRar
WRA I 5 q% AT A A A

uR weifa wdf eran ®
( Riyggw
(b) wfeemsit # A
(c) ===t & e
(@ I TR
98, fraferfaa o W faer Shifda .

1. foreft vor ® &R & WR 9@ @dw
? T e few G o k) w

wseaat ftRifua fomar sman @

2. fFelt v W &R W WR " sk
Fgft aeht T wEuET (M) W

Rk aar @

KSCB-A-GAI - A
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99.

100.

Sl § ¥ F-a/A-y
/%7

(a) Faa 1

(b) Fa 2

(c) 13R 23

(@ TA1,TR2

T & aut #, fafafea 9 @ -,
AR srdegaear ®, Fae 0 A, 7
AT TR ?

(a) Tooft Summr, aart SuwrT, foae
(Fe) frafa, wwer R goht frmfor

(b) ER SR, Freft gaswr, foam
(e) frafa, vea R goit fomfo

(c) Tostt Sasivr, vt fR goft formfor,
wWHE 39a, fee (Je) frafa

(d) TSR IunE, ool g, awa
fer gt fmto, fraer () fratfa

T & 1Y 99 & oK o Y G
A & forw wRa & dged faw smw
T fiu o= @@ (Raemm
wEer) # a9 R gikferfos a1 =
foram e feg g € 2

(@) 10%

) 15%

) 75%

) 2-5%




96. Consider the following statements :

1. The 15th Finance Commission
used fiscal effort as a criterion for
horizontal devolution unlike the

14th Finance Commission

2. Both the 14th and the 15th
Finance Commission used pre-
2011 demographic variables as a
criteria for horizontal devolution

Which of the statements given above

is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

97. Which of the following does NOT
show an improvement in rural areas
from the National Family Health
Survey 4 to National Family Health

Survey 5 ?

(a) Infant mortality rate
(b) Obesity in women
(c) Anaemia in children

(d) Total fertility rate

98. Consider the following statements :

1. Burden of a tax on a commodity
is independent of who (buyer or
seller) it is explicitly imposed

upon

2. Burden of a tax on a commodity

depends on the slope of the

demand and supply curves

41

99.

100.

Which of the statements given above
is/are correct ?

(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

In recent years, which one among the
following is the source of demand in
the Indian economy in descending
order ?

(a) Private Consumption, Govern-
ment Consumption, Net Exports,
Gross Fixed Capital Formation

(b) Government Consumption, Private .
Consumption, Net Exports, Gross
Fixed Capital Formation

(c) Private Consumption, Gross Fixed
Capital Formation, Government
Consumption, Net Exports

(d) Government Consumption, Private
Consumption, Gross Fixed Capital

Formation, Net Exports

What is the percentage weightage
assigned to Forest and Ecology in the
devolution formula given by the
Fifteenth Finance Commission of India
for sharing of Union tax revenue with
the States ?

(a) 10%

(b) 15%

© 75%
@) 2-5%

A — KSCB-A-GAI



1019w Ay & fogat & deg &

102.

frafafaa ot w R fiftc .

1. 1 o e R A g F g oww
it oyl 7 3fg a= v R

2. ¥R ¥ v ¥ wRefy wE %
TR g9 gfd # iy W aqewar @

3. % Je aRfm s fify

I # 3fg & gR1 &7 fir angfd
T THAT ©
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/%7

(a) Hae2

(b) Faa23R3

(c) Hae13R3

@ 1,233

T wiffesw Hife (NLP) ¥ w@g
# frafofea & @ S9-wr w99 @
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103.

(a) NLP &I 2022 # wrw forar ww@m ar

(b) NLP 9RT A1t it wireasferamar
# gurR sl

(c) NLP anffs wafy sgrom sk
AR & et # g =it

(d NLP §eF 9 & &aqfed@ =4

(featfom) & oo saw wem
FEM 3R 9w nfREt §
Ry & fog woedia s@w wem
ot _

BIEEIRE a’!ﬂﬁ AR arRraTsit (exter-
nalities) & Heiel ,ﬁ Freafafea w97 w

ﬁ?‘l’(ﬁ'ﬁﬂq:
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1. R-ufegfear sk R-afesaolizar,
QA e aegeit dit fadwarg
?

2. srgranet ft frmmar & =&afy
TR Rt awg B seaw wEn
IS IRT ThT ©

I # A HH-T1/BT-] T G
B/R?

(a) Sael 1

(b) e 2

(¢) 13R23mMt

(@ JIAML,TR2

104, fFraforfea & & s o 99 & =

TSTE T AT 6 AT AT A & g
W ATEA g (e feaegm
W) # 9§ 2011 i SwEET @
Teelt oK e foRar T 2

(a) <ear fa smamr

(b) Yseai T smar

(c) wigear o smam

(d) sRea o amamr

105. wa=RE H{gT AT (PMMY) ¥ fog

frafafaa & & F-w1 =09 9@ &

g7

(a) ¥ 2015 IRH fowar @

(b) T8 AT GO HA At Tafmfor,
R 3R a1 831 & forw 15 @
- U T B/ Wiga i St @

(c) 3T AT & FeNT Fae HAd =B
H At S w® R S
FEaT ® R wrldier oot H
FrEaFEaE W QoA R s
TehaT

() =0 f sEigld & fou wwds
HBIMYR  (collateral) & ﬁ-TQ; AT
el fopar Star



101.

102.

103.

Consider the following statements
regarding instruments of Monetary
Policy :

1. The Central Bank can increase the
money supply by increasing the
bank rate

2. The Central Bank can increase the
~money supply by purchasing
securities from the public

3. The Central Bank can decrease the
money supply by increasing the
cash reserve ratio

Which of the statements given above
is/are correct ?

(a) 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d 1,2 and 3

Which of the following statements

with regard to National Logistics
Policy (NLP) is NOT correct ?

(a) NLP was launched in 2022

(b) NLP would improve the com-
petitiveness of Indian goods

NLP would enhance economic
growth and increase employment
opportunities

©

(d) NLP would provide an oppor-
tunity for deleveraging balance
sheets and providing fiscal space
for investment in new infrastruc-

ture assets

Consider the following statements
regarding Public Goods and Exter-
nalities :

43

1. Non-rivalry and non-excludability
are two characteristics of Public
Goods

2. Market can provide the optimal
amount of a good in the presence
of externalities

Which of the statements given above
is/are correct ?

- (a) 1 only

104.

105.

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Population of the year 2011 was first
introduced in the tax devolution
formula for sharing Union tax revenue
with the States by

(a) Thirteenth Finance Commission
(b) Fifteenth Finance Commission
(c) Fourteenth Finance Commission

(d) Twelfth Finance Commission

Which of the following statements is
NOT correct for Pradhan Mantri

Mudra Yojana (PMMY) ?
(a) It was launched in 2015

(b) It grants loans of up to ¥15 lakhs

for income generating manufac-
turing, trading and services sectors

(¢) Under this scheme only the term
loan requirements can be met and
not the working capital require-

ments

There is no insistence on collateral
for the sanction of loan -

(d)
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2. gt a7 fafRy
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4. g sitenfirhiaor
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(b) 334

(c) 132

(d) 23R4

107. Frafafes w9t w fer fifte

1. U [0 UIEOeET
T & 1% 2022-2025 Ft sty &
o, wdtemor awar ¥ woof o ofd
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SN ffq @ a e qeEr #
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(a) sad 1

(b) Faw2

(©) 1R 22

(d TAL,T82
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108. 0 He Hgwhfy fit o #
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1. @™ 3R Y7 yord

2. ¥ AR W

3. 9Ragd @ €9R

4. T8 1d fuen
A g T Fe w1 v W IR g
(@) Fae13k2

(b) Faw1,23R3

(©) 1,2,33K4

(d) e 33k 4
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(@) Faa13R3
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106.

107.

What were the main reforms under-
taken under the New Economic Policy
of the early 1990s ?

1. Trade liberalization

2. Public Sector Disinvestment
3. Poverty Alleviation

4. Rapid industrialization

Select the answer using the code given
below :

(a) 1 only

(b) 3 and 4
(c) 1and2
(d 2and 4

Consider the following statements :

1. National Monetisation Pipeline
estimates that for the period
2022-2025, the top three sectors in
terms of monetization potential
are roads, railways, and oil and
gas pipelines

2. Under the National Monetisation
Pipeline, the instruments to be
used for asset monetization include
Public-Private Partnership conces-
sions and Infrastructure Investment
Trusts

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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108. Retail core inflation is calculated

109.

excluding which of the following ?
1. Food and beverages
2. Fuel and light
3. Transport and communication
4. Clothing and Education

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 1, 2 and 3 only
() 1,2,3 and 4

(d) 3 and 4 only

Which of the following is a part of
the capital receipt of the Government
of India ?

1. Disinvestment receipts

2. Interest receipts

3. Small savings

4. Net market borrowing

Select the answer using the code given
below :

(a) 1 and 3 only

(b) 2 and 4 only

() 1,2,3and 4

(d) 1, 3 and 4 only

A — KSCB-A-GAI



110. Fg TWHR & T & T=fofag |t

111.

F, 2023-24 ¥ &g WHR & T oA

# v ATeE & dedl F ARE W A

afera Hifvg

(a) Fra STG Yo, €T e, T
&, GST ;

(b) ET YH, FLT IATE I, GST,
frm =

(c) € g, Fa I I, fem
&, GST

(d) €T g, GST, S Scg o<k,
formr ==

W, 2024 ¥ ARG & WHEEAT 3R
¥Gh IS IFHRIA (UAE) & Tsgafar &
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(a) Saer 132
() Fa2
(c) Faw1 133

(d) 1,233
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112. fFeafafea # & S9-a1, /a6t Ry

113.

114.

MR Afq-2023" & w0 F A v A

0

(a) MFN (waifte wader wsg) =1
foaw

(b) wewifiar & wegwm @ fafa
IcaTed

(c) FRIERI gRTaT
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H gAARId FRAT :
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ORI

(b) Terefidi|

(c) SeHfymE

(d) wefea




110. Arrange the following sources of

111.

revenue of the Central Government in
ascending manner in terms of percen-
tage contribution to the total revenues
of the Central Government in 2023-24

(@) Union Excise Duty, Custom,
Corporation Tax, GST '

(b) Custom, Union Excise Duty, GST,
Corporation Tax

(¢) Custom, Union Excise Duty,
Corporation Tax, GST

(d) Custom, GST, Union Excise Duty,
Corporation Tax

Which of the following statements
with regard to the outcomes of the
talks between the Prime Minister of
India and the President of UAE held in
February, 2024 is/are correct ?

1. Both countries signed an agree-
ment on inter-linking of domestic.
debit/credit cards

2. An MoU was signed on coopera-
tion in digital infrastructure
projects

3. Both countries agreed that a
Bilateral Investment Treaty shall
be signed in the next meeting at
the ministerial level

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d 1,2 and 3
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112.

113.

114.

Which of the following is NOT one of
the pillars of India’s ‘Foreign Trade
Policy-2023" ?

(a) Enlarging MFN (Most Favored
Nations)

(b) Export promotion through collabo-
ration
(c) Ease of doing business

(d) Emerging areas - streamlining
SCOMET policy

Which of the following statements
about ‘Vibrant Village Programme’
of the Government of India is/are
correct ?

1. It aims at comprehensive develop-
ment of the identified villages

2. Fairs, festivals, sports meet etc. are
organized under this programme

Select the answer using the code given

below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which of the following countries
chaired the 43rd ASEAN SUMMIT ?

(a) Thailand

(b) Philippines
(c) Indonesia
(d) Cambodia

A — KSCB-A-GAI
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117.

frafrfea & ¥ fre Wi adalE
IR W P w9 wE (@) &

Ipsear WAt weR-2023 #
Tersvan =nfya feram mm @ 2

(a) TR (NTPC)
(b) SfigaEus (BHEL)
(c) SR &% (Balmer Lawrie)
(d) TIRTE (HPCL)

frafafaa # & S9-8 § @157 TIWB
(& fadm a= fkies) @ feem € 2

(a) W g Tk s (UNDP)
IR cfeor-gd ot asg @
@TsT (ASEAN)

() sfis wgam sk fowm @A
(OECD) 3R ASEAN

_(c)UNDPaﬁtarrﬁasamaﬁt

fa@rE @ (OECD)

(d) AL W WIBA (ILO) 3R
ASEAN

frafifea # ¥ -a1 30 T > W
T | E aRAT ® ?

@ e

(b) WIeRHET

(c) T3

(d) forgamfrram
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118. JAYWAN frafofea # @ feg 2o =
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() fra
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115.

116.

Which one among the following Indian
PSUs has been declared as the winner
at the Brandon Hall Group’s Excel-
lence in Technology Award-2023 ?

(@ NTPC
(b) BHEL
(c) Balmer Lawrie

(d) HPCL

Which of the following two organiza-
tions are parts of TIWB (Tax
Inspectors Without Borders) ?

(a) United Nations Development Pro-

gramme (UNDP) and Association
of Southeast Asian Nations

(ASEAN)

(b) Organization for  Economic
Cooperation and Development
(OECD) and ASEAN

(¢) UNDP and Organization for
Economic = Cooperation  and
Development (OECD)

- (d) International.Labour Organization

117.

(ILO) and ASEAN

Which of the following countries does
NOT share boundary with Ukraine ?

(a) Romania

- (b) Moldova

(c) Poland

(d) Lithuania
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118.

119.

JAYWAN is the domestic Debit Card
of which of the following countries ?

(@) UAE

(b) Egypt

(c) Saudi Arabia

(@) Nepal

Who, amongst the following, has won

International Emmy Award-2023 for
‘Best Actor’ ?

() Jim Sarbh

120.

(b) Shefali Shah
(c) Vir Das

(d) Martin Freeman

Which of the following statements
about CBAM (Carbon Border Adjust-
ment Mechanisms) is/are correct ?

1. These are an emerging set of trade
policy tools to allow movement
of carbon-intensive economic
activity from a jurisdiction having
less stringent climate policy to a
jurisdiction  having  stringent

. climate policy

2. These are meant to increase the
environmental effectiveness of
climate policies

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

- (d) Neither 1 nor 2
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121.

122.

123.

Which of the following statements
about the Nobel Peace Prize for 2023
is/are correct ?

1. The 2023 Nobel Peace Prize was
awarded to Narges Mohammadi

2. Narges-Mohammadi was awarded
the prize for her struggle to bring
peace in Afghanistan and Iran

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
statements with regard to the United
Nations Climate Change Conference
(COP28) is NOT correct ?

(a) The ‘Global Stocktake’ is the
central outcome of COP28

(®)

It recognized the need to limit
global warming to 1-5°C

(¢) It directed the developing
countries to lead the transition
away from fossil fuel

(d) It emphasized accelerated phase-

down of coal-power

Which of the following statements
with regard to the Anoop Barenwal v.
Union of India (2023) case is/are
correct ?

51

124.

125.

1. The case was heard by a Constitu-
tional Bench

2. According to the judgment, the
grounds for removal of Election
Commissioners shall be the same
as the Chief Justice of India

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

The National Council of Science
Museums (NCSM), which is devel-
oping Science Centres/Museums/
Innovation Hubs in India, works under

(a) the Ministry of Science and

Technology

(b) the Ministry of Culture

©
)

the Ministry of Education

the Ministry of Earth Sciences

Which one among the following cities
was included as the ‘City of Music’
in the year 2023 in the UNESCO’s
Creative Cities Network ?

(a) Kozhikode
(b) Chennai
(c) Varanasi

(d) Gwalior

A - KSCB-A-GAI
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